Answer Key

Lesson 6.5

Practice Level A
AB 12 3 AC _9 _3 BC _15_3

YDET R TYDFT 6 2EF 102
so AABC ~ ADEF by SSS Similarity Thm.;

Scale factor: %

o 4B _21 _3 AC _ 18 3 BC _33 _3
"DE 28 & DF 24 #EF 44 &

so AABC ~ ADEF by SSS Similarity Thm.;

Scale factor: % 3. ADEF ~ AHGI;%

a. AABC ~ NGHI; &

RS _4 _2 ST _6_2 e
5')TY == 1z 9 3% two pairs of sides
are proportional. Because the included angles £ .S and £ Y are right angles, they are congruent. Therefore,
ARST = AXYZ by SAS Similarity

Thm.; scale factor: %

o RT_28 _7 ST _21_7 . . .
"XZ 16 #vz 12 gSotwopanso

sides are proportional, and their included angles are congruent (£ 7'= £ Z). Therefore,
ARST = AXYZ by SAS Similarity Thm.;

scale factor: % 7. AJKL ~ ATUV; % 8. no

9. yes; ACDG ~ ACEF;% 10. no

11. yes; SSS Similarity Thm. 12. yes; SAS Similarity Thm. 13.no 14. yes; SSS Similarity Thm.
15. yes; SAS Similarity Thm.
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SAS Similarity Thm AA Similarity Post.

18. a. AA Similarity Post. b. Sample answer: Use the similar triangles to set up the proportion
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